B g e

TRESRAIL CHVAIREFIOREAL N AHEF IO
E iy Sl %:F%_ REH AP EE Z w0 AuE I—j\:}\"“/ﬁf’?%
TR CTESBHERR 2 TEPEARTHE, TR G

B PG et 5 e o HAR G R |

AR fi 7R
Wi

RN AN 3 —Flg—r“ o =t
R rEF BL
A FEye T3 0955-991950

HAEP Y Ay
Mip s AT %RGFFHANRE

|

~N

~N

i 2 1 (Bxm ) (5R4E%)

P e BEG (B ) (F%4L%)

%—FF e g bk (%43 )k dige o8& (B3 )  (FR4EFR)
TR ’\ﬁt v AR P ens 1LY TF (28 2. ER L HFE#AA
4. Jit= (fax) oS.[JB=* 6. J#w___

FE,EJ FHERFe T oHegpd Fapmguy

V.

(E‘,%ﬂ\ﬁi{] EEIE S8 fT&E#mﬂxéZ (15t bl ~ 2 7B ppeirie 5 3, [ % 4o % (7 4L
AE PR 4 (50 86 BB rEres (6] F 0~ F 5106 ~ £ %~ 3 LALT B pperma 23]
#) 5.[f (24 Azsa 5 6.8 @ :
ek r R L2 % 2 s emn3 A L4 ks 8 _ (VA4E)

j‘:’f‘ﬁﬁi-"i‘li'—:”ﬁ%”?ﬁ_%ﬁ ma;}ic‘%’ﬁ%’jﬂ_ﬁé\ﬁb

REF Lgy (A7HE0) B4 s

Rl

He smgphrpiddyssy (2p) e 1L0JF 2.4 #e
Avefgz iy A i 1= [J2= [J3= [J4 =% 2

i args L0 20843303 6z 403 % (&40
0. [ 4g: (%416, 1% ©

sAsRfRd R B EEL L g2 a3 RmEEEL ]
FhEL2Z DB (bilde : B% ~ AT EE ~ f 55 ”‘\_{;lc"gvi\ B R %)
B dhy* 95 ~ BpAERFYG P o i B pE ”
Lo AP raEREL L L3S 2. a3 URNE ZEFE 4[4 w{sﬁ 5.Dﬂ B
FoFN o BB B mREFTHAR
SRR R E L NN L
LOE» w2314 2% 14 3% T52-3% 4. []57 4=t
oy sfmesEp g ahn LR (P g) 20EM SR A LIge (Far) 5.k
6.8 =
s AMpevafp T A Ecs [ X [2% [J3=x [4=% 1t
eI wm AL FE L [ [JaxEdL 2[4 2R

¥ o FF N REER o B



X9 F T2L@E  FHEBFIH 18 TR HERF A

I~ AWMz 3R FE ;
LR 2. R 238 3. [ 4z 4.[JH &
BERFFPHE A BRAEEFYZ P A4 pEERF
WREE 2 2 (REEF -~ p i FHpd 2--%)
Aosafmad ez Aol LOpFER 2005%  BFpAEFERFYL P
BRI FMBSRE  XRHAERISE O RFRE oM
- N ERARIT BERFHBORFIEN (FAFE)
LO#EFg* (¢85) K3 2.[#FFFF (¢#88) fRE 3Lk BFHBHE7{
4. g 5. R s (G#Hp)
-~ FRABL WA 1LLI10% 2.[J20% 3.[J30% 4. [ 140%r++ - &2 FER 4Bk B 4B
FRA&LGp L2047 S L3 4370 B AEL RS
Bty s R EAATHENS
- ~ E#
1.0 18,z =™ 2.[]18~25%& 3.[] 26~3b%k 4.[] 36~45%
5.[] 46~55% 6.1 56~65% 7.[] 66 % 12+
S e AT
13 O+
=~ ﬂ@ ;ﬁﬁnhmaw&ﬁg;
] 30,000 12
[] 30,001~60,000 =~ [] 60,001~90,000 =~ [] 90,001~120,000 =~
[] 120,001~150,000 = [] 150,001 = 1z}
s \FFFF BiE A& 1 T L
[] 20,000 12
[] 20,001~40,000 =~ [] 40,001~60,000 =~ [] 60,001~80,000 =~
] 80,001~100,000 =~ [] 100,001 =1z F
El Lﬁ’”ﬁ{%ﬁ&m-
O wr ORe e -~32% [ ~FE&) R OEL L] A
IR N wm%im.
L& L =af DDymi L2 Up UF2 L Apty
IRD -SRI | SR 30 #IDM%DH%D@,MﬁDﬁ,g
S EFa@edER La 2[%pAEaER S [EFBEER (FHE)
SRR RFLEDE o B2 R

AL P L0 0 R B R AR YRV ER  FE AR )

A

/47\



